BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE OFFSITE WATER LINE AND SANITARY FORCE MAIN TO SERVE NEWPORT GROVE NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, E.T.J., HARRIS COUNTY, TEXAS MAY 30, 2024 LJA ENGINEERING, INC. S. YOUNG MAY 30, 2024 0074-4505 (9.2)

BIDDER'S NAME	TOTAL BID AMOUNT	TOTAL BID AMOUNT INCLUDING ALTERNATE ITEMS
1) BULL-G CONSTRUCTION LIMITED LIABILITY COMPANY	\$691,543.00	\$692,693.00
2) GM VERA'S CONSTRUCTION	\$734,685.75	\$759,985.75
3) ISJ UNDERGROUND UTILITIES	\$827,631.10	\$872,481.10
4) BLAZEY CONSTRUCTION SERVICES, LLC	\$835,360.15	\$881,360.15
5) TO-MEX CONSTRUCTION, LLC	\$971,154.00	\$984,954.00

CALENDAR DAYS - 40/50



Juli shlm 6/4/2024

I, JUSTIN L. GRAHAM, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

9. 4" PVC FORCE MAIN, COMPLETE IN PLACE

10. 4" FORCE MAIN ISOLATION VALVE AND BOX, COMPLETE IN PLACE

CONSTRUCTION OF THE OFFSITE WATER LINE AND SANITARY FORCE MAIN TO SERVE NEWPORT GROVE NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, E.T.J., HARRIS COUNTY, TEXAS MAY 30, 2024

LJA ENGINEERING, INC. S. YOUNG MAY 30, 2024 0074-4505 (9.2)

			1) BULL-G CONSTRU LIABILITY CO		2) GM VERA'S CO	NSTRUCTION	3) ISJ UNDERGROUND UTILITIES	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS								
1. 8" P.V.C. WATER PIPE, C-900, DR18, CLASS 235, ALL DEPTHS, COMPLETE IN PLACE	LF	5,318	\$40.00	\$212,720.00	\$36.30	\$193,043.40	\$42.50	\$226,015.00
 8" P.V.C. WATER PIPE, C-900, DR18, CLASS 235, RESTRAINED JOINTS, ALL DEPTHS, COMPLETE IN PLACE 	LF	2,298	\$47.00	\$108,006.00	\$44.00	\$101,112.00	\$55.50	\$127,539.00
3. 2" BLOW OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	1	\$1,600.00	\$1,600.00	\$1,620.30	\$1,620.30	\$1,891.50	\$1,891.50
4. 8" PLUG AND CLAMP, COMPLETE IN PLACE	EA	3	\$700.00	\$2,100.00	\$451.00	\$1,353.00	\$200.00	\$600.00
5. FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDE APPROPRIATE TEE, 6" GATE VALVE & BOX, 6" LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	7	\$6,100.00	\$42,700.00	\$5,938.90	\$41,572.30	\$9,992.50	\$69,947.50
6. DUCTILE IRON FITTINGS, COMPLETE IN PLACE	TON	2.05	\$5,000.00	\$10,250.00	\$5,269.00	\$10,801.45	\$100.00	\$205.00
7. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	7,616	\$1.00	\$7,616.00	\$1.10	\$8,377.60	\$0.10	\$761.60
8. 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	11	\$2,050.00	\$22,550.00	\$2,169.20	\$23,861.20	\$2,817.00	\$30,987.00
 14" STEEL CASING FOR 8" WATER LINE (DOES NOT INCLUDE CARRIER PVC PIPE), COMPLETE IN PLACE 	LF	671	\$86.00	\$57,706.00	\$83.60	\$56,095.60	\$74.50	\$49,989.50
10. WATER LINE AIR RELEASE VALVE MANHOLE, COMPLETE IN PLACE	EA	4	\$5,600.00	\$22,400.00	\$9,341.20	\$37,364.80	\$15,207.00	\$60,828.00
11. AUGER FOR WATER LINE, COMPLETE IN PLACE	LF	495	\$40.00	\$19,800.00	\$65.10	\$32,224.50	\$56.50	\$27,967.50
12. 12" X 8" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$3,200.00	\$3,200.00	\$5,125.30	\$5,125.30	\$12,890.50	\$12,890.50
13. 16" X 8" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$3,700.00	\$3,700.00	\$5,474.70	\$5,474.70	\$13,528.00	\$13,528.00
 REMOVE PORTION OF EXISTING 4" FORCE MAIN AND EXISTING PLUG AND CLAMP, CONNECT PROPOSED 4" FORCE MAIN, COMPLETE IN PLACE 	EA	1	\$2,000.00	\$2,000.00	\$788.70	\$788.70	\$500.00	\$500.00
SUBTOTAL WATER ITEMS				\$516,348.00		\$518,814.85		\$623,650.10
SANITARY SEWER ITEMS								
1. TRENCH SAFETY SYSTEM, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2,480	\$1.00	\$2,480.00	\$1.10	\$2,728.00	\$0.10	\$248.00
DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$22.00	\$11,000.00	\$20.00	\$10,000.00
ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1,240	\$1.00	\$1,240.00	\$8.80	\$10,912.00	\$5.00	\$6,200.00
4. 4" PVC FORCE MAIN, AWWA C-900, DR-18, RESTRAINED JOINT PIPE, INCLUDES RESTRAINED JOINT FITTINGS & BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	715	\$25.00	\$17,875.00	\$24.80	\$17,732.00	\$42.50	\$30,387.50
5. SANITARY SEWER FORCE MAIN PLUG AND CLAMP, (ALL DEPTHS), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$495.90	\$495.90	\$235.00	\$235.00
6. SANITARY SEWER AIR RELEASE MANHOLE VALVE FOR SEALED MANHOLE, COMPLETE IN PLACE	EA	2	\$11,000.00	\$22,000.00	\$11,452.00	\$22,904.00	\$24,549.00	\$49,098.00
7. AUGER SECTION FOR 4" FORCE MAIN, COMPLETE IN PLACE	LF	201	\$10.00	\$2,010.00	\$52.80	\$10,612.80	\$32.00	\$6,432.00
8. 10" STEEL CASING FOR 4" SANITARY FORCE MAIN, COMPLETE IN PLACE	LF	201	\$50.00	\$10,050.00	\$37.20	\$7,477.20	\$54.50	\$10,954.50

FRN F-1386
LJA Engineering, Inc.
O:\LAND\0074\4505\05302024_Newport Grove Offsite WL & FM_BT

\$32,652.50

\$11,112.00

\$18.50

\$2,778.00

\$1,450.00

\$25.00

\$44,125.00

\$5,800.00

\$23.90

\$1,509.00

\$42,183.50

\$6,036.00

1,765

4

EA

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT BID INCLUDING ALTERNATE ITEMS

CONSTRUCTION OF THE OFFSITE WATER LINE AND SANITARY FORCE MAIN TO SERVE NEWPORT GROVE

\$692.693.00

\$759,985.75

NEWPORT MUNICIPAL UTILITY DISTRICT

CITY OF HOUSTON, E.T.J., HARRIS COUNTY, TEXAS

MAY 30, 2024 LJA ENGINEERING, INC.

S. YOUNG

MAY 30, 2024 0074-4505 (9.2)

		0074-4505 (9.2)					
		,		2) GM VERA'S CO	2) GM VERA'S CONSTRUCTION		UND UTILITIES
UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
			\$116,580.00		\$132,081.40		\$157,319.50
LF	13,590	\$1.00	\$13,590.00	\$2.80	\$38,052.00	\$0.10	\$1,359.00
LF	2,025	\$1.00	\$2,025.00	\$3.90	\$7,897.50	\$0.10	\$202.50
EA	1	\$2,000.00	\$2,000.00	\$3,850.00	\$3,850.00	\$50.00	\$50.00
EA	1	\$500.00	\$500.00	\$990.00	\$990.00	\$50.00	\$50.00
O AC	3	\$13,500.00	\$40,500.00	\$11,000.00	\$33,000.00	\$15,000.00	\$45,000.00
			\$58,615.00		\$83,789.50		\$46,661.50
	1,150	\$1.00	\$1,150.00	\$22.00	\$25,300.00	\$39.00	\$44,850.00
			\$1,150.00		\$25,300.00		\$44,850.00
			\$516,348.00		\$518,814.85		\$623,650.10
			\$116,580.00		\$132,081.40		\$157,319.50
			\$58,615.00		\$83,789.50		\$46,661.50
			\$691,543.00		\$734,685.75		\$827,631.10
			\$691,543.00		\$734,685.75		\$827,631.10
			\$1,150.00		\$25,300.00		\$44,850.00
F	LF LF EA O AC	LF 13,590 LF 2,025 EA 1 EA 1 O AC 3	1) BULL-G CONSTRILLIABILITY COUNTY UNIT COST LF 13,590 \$1.00 LF 2,025 \$1.00 EA 1 \$2,000.00 EA 1 \$500.00 O AC 3 \$13,500.00 F LF 1,150 \$1.00	1) BULL-G CONSTRUCTION LIMITED LIABILITY COMPANY UNIT QTY UNIT COST TOTAL COST \$116,580.00 LF 13,590 \$1.00 \$13,590.00 LF 2,025 \$1.00 \$2,025.00 EA 1 \$2,000.00 \$2,000.00 EA 1 \$500.00 \$500.00 O AC 3 \$13,500.00 \$40,500.00 F LF 1,150 \$1.00 \$1,150.00 \$516,348.00 \$116,580.00 \$58,615.00 \$691,543.00 \$691,543.00	1) BULL-G CONSTRUCTION LIMITED LIABILITY COMPANY UNIT QTY UNIT COST TOTAL COST UNIT COST \$116,580.00 LF 13,590 \$1.00 \$13,590.00 \$2.80 LF 2,025 \$1.00 \$2,025.00 \$3.90 EA 1 \$2,000.00 \$2,000.00 \$3,850.00 EA 1 \$500.00 \$500.00 \$990.00 AC 3 \$13,500.00 \$40,500.00 \$11,000.00 F LF 1,150 \$1.00 \$1.00 \$1,150.00 \$22.00 \$58,615.00 \$58,615.00 \$5891,543.00 \$691,543.00	1) BULL-G CONSTRUCTION LIMITED LIABILITY COMPANY UNIT QTY UNIT COST TOTAL COST UNIT COST TOTAL COST \$116,580.00 LF 13,590 \$1.00 \$13,590.00 \$2.80 \$38,052.00 LF 2,025 \$1.00 \$2,025.00 \$3.90 \$7,897.50 EA 1 \$2,000.00 \$2,000.00 \$3,850.00 \$3,850.00 EA 1 \$500.00 \$500.00 \$990.00 \$990.00 O AC 3 \$13,500.00 \$40,500.00 \$11,000.00 \$33,000.00 F LF 1,150 \$1.00 \$1,000 \$1,150.00 \$22.00 \$25,300.00 S \$11,150.00 \$22.00 \$25,300.00 S \$18,814.85 \$116,580.00 \$132,081.40 \$586,615.00 \$837369.50 \$837369.50 \$891,543.00 \$734,685.75	1) BUIL-G CONSTRUCTION LIMITED LIABILITY COMPANY UNIT QTY UNIT COST S116,580.00 LIF 13,590 S1.00 S13,590.00 S2.80 S38,052.00 S0.10 LIF 2,025 S1.00 S2,025.00 S3,850.00 S3,850.00 S3,850.00 S3,850.00 S3,850.00 S3,850.00 S3,850.00 S40,500.00 S40,500.00 S11,000.00 S11,000.00 S11,000.00 S11,000.00 S11,000.00 S11,000.00 S25,300.00 S390.00 S50.00 S51,000.00 S51,0

\$872,481.10

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE OFFSITE WATER LINE AND SANITARY FORCE MAIN TO SERVE NEWPORT GROVE NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, E.T.J., HARRIS COUNTY, TEXAS MAY 30, 2024 LJA ENGINEERING, INC.

S. YOUNG MAY 30, 2024 0074-4505 (9.2)

4) BLAZEY CONSTRUCTION SERVICES, LLC

5) TO-MEX CONSTRUCTION, LLC

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS						
 8" P.V.C. WATER PIPE, C-900, DR18, CLASS 235, ALL DEPTHS, COMPLETE IN PLACE 	LF	5,318	\$37.00	\$196,766.00	\$49.00	\$260,582.00
 8" P.V.C. WATER PIPE, C-900, DR18, CLASS 235, RESTRAINED JOINTS, ALL DEPTHS, COMPLETE IN PLACE 	LF	2,298	\$46.00	\$105,708.00	\$63.00	\$144,774.00
3. 2" BLOW OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	1	\$1,452.00	\$1,452.00	\$2,900.00	\$2,900.00
4. 8" PLUG AND CLAMP, COMPLETE IN PLACE	EA	3	\$289.00	\$867.00	\$1,050.00	\$3,150.00
FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDE APPROPRIATE TEE,6" GATE VALVE & BOX, 6" LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	7	\$6,053.00	\$42,371.00	\$5,989.00	\$41,923.00
6. DUCTILE IRON FITTINGS, COMPLETE IN PLACE	TON	2.05	\$5,397.00	\$11,063.85	\$5,200.00	\$10,660.00
7. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	7,616	\$0.30	\$2,284.80	\$0.50	\$3,808.00
8. 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	11	\$1,928.00	\$21,208.00	\$2,885.00	\$31,735.00
 14" STEEL CASING FOR 8" WATER LINE (DOES NOT INCLUDE CARRIER PVC PIPE), COMPLETE IN PLACE 	LF	671	\$81.00	\$54,351.00	\$175.00	\$117,425.00
10. WATER LINE AIR RELEASE VALVE MANHOLE, COMPLETE IN PLACE	EA	4	\$8,062.00	\$32,248.00	\$9,875.00	\$39,500.00
11. AUGER FOR WATER LINE, COMPLETE IN PLACE	LF	495	\$227.00	\$112,365.00	\$65.00	\$32,175.00
12. 12" X 8" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$3,615.00	\$3,615.00	\$5,205.00	\$5,205.00
13. 16" X 8" TAPPING SLEEVE AND VALVE & BOX, COMPLETE IN PLACE	EA	1	\$5,089.00	\$5,089.00	\$6,470.00	\$6,470.00
14. REMOVE PORTION OF EXISTING 4" FORCE MAIN AND EXISTING PLUG AND CLAMP, CONNECT PROPOSED 4" FORCE MAIN, COMPLETE IN PLACE	EA	1	\$2,061.00	\$2,061.00	\$2,360.00	\$2,360.00
SUBTOTAL WATER ITEMS				\$591,449.65		\$702,667.00
SANITARY SEWER ITEMS						
1. TRENCH SAFETY SYSTEM, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2,480	\$0.30	\$744.00	\$0.50	\$1,240.00
DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$25.00	\$12,500.00	\$20.00	\$10,000.00
ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1,240	\$17.00	\$21,080.00	\$8.00	\$9,920.00
4" PVC FORCE MAIN, AWWA C-900, DR-18, RESTRAINED JOINT PIPE, INCLUDES RESTRAINED JOINT FITTINGS & BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	715	\$21.00	\$15,015.00	\$45.00	\$32,175.00
SANITARY SEWER FORCE MAIN PLUG AND CLAMP, (ALL DEPTHS), COMPLETE IN PLACE	EA	1	\$334.00	\$334.00	\$1,210.00	\$1,210.00
SANITARY SEWER AIR RELEASE MANHOLE VALVE FOR SEALED MANHOLE, COMPLETE IN PLACE	EA	2	\$14,456.00	\$28,912.00	\$16,998.00	\$33,996.00
7. AUGER SECTION FOR 4" FORCE MAIN, COMPLETE IN PLACE	LF	201	\$215.00	\$43,215.00	\$60.00	\$12,060.00
8. 10" STEEL CASING FOR 4" SANITARY FORCE MAIN, COMPLETE IN PLACE	LF	201	\$66.00	\$13,266.00	\$160.00	\$32,160.00
9. 4" PVC FORCE MAIN, COMPLETE IN PLACE	LF	1,765	\$21.00	\$37,065.00	\$40.00	\$70,600.00
10. 4" FORCE MAIN ISOLATION VALVE AND BOX, COMPLETE IN PLACE	EA	4	\$1,094.00	\$4,376.00	\$1,850.00	\$7,400.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE OFFSITE WATER LINE AND SANITARY FORCE MAIN TO SERVE NEWPORT GROVE NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, E.T.J., HARRIS COUNTY, TEXAS MAY 30, 2024 LJA ENGINEERING, INC. S. YOUNG

4) BLAZEY CONSTRUCTION SERVICES, LLC

MAY 30, 2024

0074-4505 (9.2)

5	TO-MEX	CONSTRUCTION.	LLC

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SUBTOTAL SANITARY SEWER ITEMS				\$176,507.00		\$210,761.00
MISCELLANEOUS ITEMS						
 FILTER FABRIC FENCE (SILT BARRIER FENCING), TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE 	LF	13,590	\$2.10	\$28,539.00	\$1.40	\$19,026.00
2. CONSTRUCTION FENCE (ORANGE), COMPLETE IN PLACE	LF	2,025	\$1.10	\$2,227.50	\$2.00	\$4,050.00
INSTALL, MAINTAIN AND REMOVE STABILIZED CONSTRUCTION ACCESS, COMPLETE IN PLACE	EA	1	\$2,040.00	\$2,040.00	\$8,900.00	\$8,900.00
4. CONCRETE TRUCK WASHOUT, COMPLETE IN PLACE	EA	1	\$595.00	\$595.00	\$5,200.00	\$5,200.00
 CLEARING AND GRUBBING OF OFFSITE WATER AND SANITARY EASEMENTS, TO INCLUDE CHIPPING AND HAULING OFFSITE OF CLEARED MATERIAL, ROOT RAKING AND BACK DRAGGING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 	AC	3	\$11,334.00	\$34,002.00	\$6,850.00	\$20,550.00
SUBTOTAL MISCELLANEOUS ITEMS				\$67,403.50		\$57,726.00
ALTERNATE ITEMS						
 REMOVE EXISTING 7" UNCOATED CHAIN LINK FENCE, ONCE CONSTRUCTION OF WATER LINE AND FORCE MAIN IS COMPLETE, CONTRACTOR WILL REPLACE CHAIN LINK FENCE TO EXISTING OR BETTER CONDITION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	LF	1,150	\$40.00	\$46,000.00	\$12.00	\$13,800.00
SUBTOTAL ALTERNATE ITEMS				\$46,000.00		\$13,800.00
BID SUMMARY						
SUBTOTAL WATER ITEMS				\$591,449.65		\$702,667.00
SUBTOTAL SANITARY SEWER ITEMS				\$176,507.00		\$210,761.00
SUBTOTAL MISCELLANEOUS ITEMS				\$67,403.50		\$57,726.00
TOTAL AMOUNT BID				\$835,360.15		\$971,154.00
ALTERNATE ITEMS						
TOTAL AMOUNT BID				\$835,360.15		\$971,154.00
SUBTOTAL ALTERNATE ITEMS				\$46,000.00		\$13,800.00
TOTAL AMOUNT BID INCLUDING ALTERNATE ITEMS				\$881,360.15		\$984,954.00